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QUESTION 1

Which is required by vCenter Converter Standalone to convert a physical Red Hat Enterprise Linux 7 machine to a
virtual machine?

A. The Linux machine must be powered off.

B. The Linux machine must have the SSH daemon started.

C. The Linux machine must use a static IP address.

D. The Linux machine must have a fully-qualified domain name.
Correct Answer: B

Ports used when converting a powered on machine running Linux Table contains a list of the ports that must be open
during the conversion of powered on source machines running Linux.

Ports required during Linux P2V

Communication Path TCP Ports | Notes

Converter Standalone server | 22 Used to establish an SSH connection between the

to powered on source Converter Standalone server and the source machine.
machine

Converter Standalone client | 443 Required only if the Converter Standalone server and
to Converter Standalone client components are on different machines.

server

Converter Standalone server | 443 Required only if the conversion destination is a vCenter
to vCenter server Server.

Converter Standalone server | 443, 902 If the conversion destination is a vCenter Server, only
fo ESX/ESXi port 902 is required.

Converter Standalone server | 443
to helper virtual machine
Helper virtual machine to 22 Used to establish an SSH connection between the helper
powered on source machine virtual machine and the source machine. By default. the
IP address of the helper virtual machine is assigned by
DHCP. If no DHCP server is available on the destination
network, you must manually assign the helper virtual
machine an IP address.

QUESTION 2

Which do Protocol Endpoints refer to?

A. a VASA provider

B. a pool of raw storage capacity that spans different physical arrays

C. a Virtual Volumes datastore

Latest 2V0-622D Dumps | 2V0-622D VCE Dumps | 2V0-622D Exam Questions 2/4


https://www.pass2lead.com/2v0-622d.html
https://www.pass2lead.com/2v0-622d.html
https://www.pass2lead.com/2v0-622d.html

P 2L d https://lwww.pass2lead.com/2v0-622d.html
aSS ea 2024 Latest pass2lead 2V0-622D PDF and VCE dumps Download

—— https://Pass2Lead.com

D. a logical I/0O proxy of the physical storage fabric

Correct Answer: D

QUESTION 3

A domain user is able to successfully log into the vSphere Web Client, but notices that the vCenter Server system does
not appear in the inventory.

Which is the cause of this situation?

A. The Service Control Agent service is not running.

B. The vCenter Server does not have any hosts added to inventory yet.
C. The domain user has read-only permissions on vCenter Server.

D. The domain user does not have vCenter Server permissions.
Correct Answer: D

The vCenter Server system will not appear in the inventory if you do not have permissions on it. For example, if you log
in as the vCenter Single Sign On administrator user, you might not have permissions on any vCenter Server system.

QUESTION 4

Which is the maximum number of block devices (LUNSs) that are supported by ESXi hosts that are running version 6.5?
A. 1024

B. 512

C. 2048

D. 256

Correct Answer: B

QUESTION 5

What two enhancements are in VMFS6 but not in VMFS5? (Choose two.)
A. Support for 4k native disks

B. Support for 512e disks

C. GPT storage device patrtitioning

D. Automatic space reclamation

Correct Answer: BD
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